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—_—
No. of Questions/sreat 6 e : 120
Time : 2 Hours] | [Fidl Marks : 360
a0 ; 20%) [t : 360

Note : () MwnquummsuymeachqtmﬁuncmiuS[Imae)
;::::;\:I m& will be ﬁfadam-d Jor eack incorrect answer.

awarded for each unattempted question.
m&tuﬁému&wmﬁtﬁmsﬁmhmh
e o I & fT v o wEr wnn | e sEeha S W

SRS BT mem |

(if) If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one. |
;ﬁ]wﬁmimmmzw:#ﬁummﬁﬁmm%t

L. Which of following data is non-frequency data ?

(1) Distribution of 1.Q. of children of age 10 years

(2) Income distribution data

(3) Time series dsts

(4) Votes obtained by different candidates in an election

et & & whror S fe-omfr e 4 ¢

(1) =g, %1 Rem 1098 ) o & w=i §

(2) Iy e ¥z

(3) & a3

(4) o g F faftew Smftgandl grr stz e
2, memimhmﬁa%mm“':_r =

(DSubtile  @)Swbs (3)Headnotes  (4) Captions
ol RS P

(NWWE Oy mem——TITIRE  (4) 4
(]
. (Thorn Over)
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17P/221/17 (1)

3. Infrequency distribution with open-end class interval in the last, the appropriate

measure of central tendency is :
(1) Mean (2) Geometric mean
(3) Median (4) Harmonic mean

a3 - FETR Jawe $ ww gt e §, IRE FE Wi w3
¥ .

(1) wvex | (2) safifta wen
(3) 3ftea (4) WIS WTed

4. To represent the percentage break-up of a data, the more appropriate diagram
is:

(1) Bar diagram (2) Multiple bar diagram
(3) Picdiagram (4) Pictogram
ﬁ#h%ﬂm%h—mmuﬁﬁﬁﬁﬁﬁ%m, sty I sma B
(1) ¥ Mm@ (2) T R ANE
(3) e o (4) Feam
5. With the help of ogive, one can determine: |
(1) Mean (2) Median
(3) Mode (4) Standard deviation
mﬂmﬁ,ﬁ%ﬁmﬁmt g
(1) TR ) (2) RIlEHI
(3)Ae (4) T fewe
(2) (Continued)
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17P/221/17 (1)

6. A carcovered the first 5 km at a speed 30 km/hr and next 15 km at a speed of
45 km/hr, Theavmgeupeedofwis

(1) 35 km/br (2) 40 km/hr

(3) 45 km/hr (4) 42 km/he

& HR 30 Reedt faer € fty & vt 5 Rh ol ar 45 Rl wﬁnfui# 1sﬁsm
Meanat, !

e fomar mar | w6
(1) 35 fodt e (2) 40 fofi e
(3)4sfeffim - (4) 42 Rt e

7. Theaverage age of 50 students in a bus is 20 years, When the age of conductor
18 included the average age is increased by one year. The age of conductor is :

(1)Slyears  (2) 60 years (3) TIyeate (4) 21 years

mimﬁﬂaﬂmmznmhmﬁummﬁatm a
RN et SR ol PEFS

()staf - (2)60wd - (3) 2\4, (@217
8. i
tu..

9. If mean of a sems is lﬁ and coefficient of vanatlon IS Mmm of
w&ﬁmwwwmmﬁmwwt B G e

(14 - D8 G (4) 16
10, wm fo]lowmg is true :
M4<3 QT ) Bin3
| (3)
(Zirn Over)
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17P/221/17 (1)

11.

12.

13.

l‘l

Classical probability is measured in terms of :

(1) an absolute value (2) aratio

(3) absolute value and ratio both (4) None of the above.

TRuits mirwar o & wwed o arf) I 2
(1) & g wr (2) & g
(3) W WH 1 AT (4) 50 & & =g 7l |

[f 4 and B are two events, the probability of occurrence of either 4 or Bis given

:édmﬂﬁmﬁhnmﬂﬁwﬁaﬁiﬁuﬁmt:

(4) Pascal

(4) TEe

(Continued)

(1) PUA)+ PLB) @ P(aUB)

(3) P(ANB) . (4) P(4) P(B)

The definition of statistical probability was originally given by :

(1) De Moivre  (2) Laplace (3) Von-Mises

i R 6 v ver: et 3 zR 4w

(1) % Hia (2) W | (3) wis-Prrm

If B A, the probability P(4/B) is equal to :

(1) zero ' (2) one

(3) PAYP(B) (4) P(BYP(4)

o Bc A & whem P(4/B) P S oy

(1) )T

(3) PAYPD) R
(4)
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ifAis&nevcnt.thzcmoml.Mit}'ofJgimdi_uqmlb.:

(1) zero (2) one

() infinks T —
u&.«mmtmmmmwt.ﬁmmaﬂmh
(1) O |
(3) s (4) e won

Usnd ¥ are integer valued uniform random variables, If X= 1) + ¥

81, .. m}, {0, m, ..., nm} and {0, 1,..., (n+ 1)m}.

@0, 1,.., m}, {0, m, .., (n—1)m} and {0, 1, .. nm).

G) (0. 1, o 13,0, m, . e} 880, 1, ., =1},
{01, .., m-1}, {O,m, ., (B-Dm}and{0,1,..,mm—1j,

Ui ¥ ol 2wt amdt i TR
mtﬁ-a*mmmﬁ;&:&mh tﬁf RO

(1) 0,1, ... m), {0, mbnsmam) it 40, 1, ., (ne Bl Rz § |
@10, 1, ... m}, {O,m, ..., (- Lim} 3t (0,1, . nm) QR R | -
30, 1y oy m—1}, {0, m, ... nm3 3 g, by i~ 1} Bt w4 |

(8) 0,1, =1, 0, (7= By 7wmy

(3)
(Trm Over)
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17, X, Uand ¥ ate independent random variabies. U has Bernoulli distﬁbuﬁ?n s-uch
that (U=0)=pand P(U=1)=1-p; 0 < p < 1. ¥ has exponential distribu-
tion with mean 6. Let ¥=pX+ UV.If Xand Y are identically distributed.
Assertion (A) : The correlation coefficient between X and ¥ is plus one.
Reason (R) : The regression of Y on X is lincar.
Chomymnwerﬁnmmufouowingmdes:

(1 Both A and R is true and R is correct explanation of A.
| (2)BothAnndRistruebutRisnotoorrectexplanaiimwa,
(3) A is true but R is false.

(4) A is falsebut R is true.

‘ ' & PU=0)=p
X, Usin Ve Tefs T E | UYE TR Fieh ¥ v &
s PU=1)=1-p0<p<ll y wrs © wren warh W # | WA

Y=pX+ UV | 3R X 3 YR ERa M @

FH (A) : X Y ¥ Wy agEee s W R
F (R) : Y XYoo amvm Y R

(1) A 3ttt R 26 = § 3t At save R¥I

{2)A3ﬂIRﬁﬂ'@imAaﬁnﬁmRﬂil
(3)Awtmknmh

(4) AT R T RTE R L

(6) (Continued)
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17P1221/17 (1)

18. Which of the following can be cumulative distribution function of some
random variable 7 |

0, ifx<3

1, ifx>3

0,  ifx<0

S2:F(x}={klogs, if 0<x <3 and k is non-zero constant

s ifx23

Sl: F(x)=1

Choose your answer from the following codes :
(1) Only S1 (2) Only S2

(3) Both S and 82 (4) Neither S1 nor 82

- PeRvidnr 3 3 v e gl sl R R w7

_ [0, qfR x s 3
3l F(x)= ¢
(x) L sz >3
| 0, IMRx<0
§2:F(x)={klogx,aR0sx<3 ok & T fls
q, MRx 23 o

e T e 9t & g -

(1) % S! (2) ¥am 82
(3) 81 3k S234. OEERIER Y,

(7)
ml‘nom)
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17P1221/17 {1}

19, Iff (x)andf,(x) are two probability density functions and 8, and 6, are any two
real numbers, then g(x) =9, fix)+9, f(x) will be always probability density
function of some random variable :

(1) Forall values of 6, and 9,
(2) For those values of 6, and 6, for which 8, + 0,= 1.
(3) For all positive values of 6, and 0,.

(4) For only those positive values of 6, and 8, for which 6, +8,=1.

£ (x) ¥ £,(x) Sften W e § e 6, o, wf 2 areaies W £, &
g(x) =8, fj(x) +8,£,x):

(1) 6, 3k 8,% Wit 7l &
(2)9,dk92tmﬂﬁtﬁﬁmmqa!+ez-1
(3)e,m:amqammﬁm

40 ﬂﬁlﬁmwmﬂ#mmmqw’:l

“ﬁ[ﬁl‘lﬂw YAt W WET |
mmmﬁ“

(8) (Continued)
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17P/221/17 (1)

20. Which of the following function is/are bivari istri
ariate cumu i
Hon lative distribution func-

I-e™ if x>0andy2]

Fx,y)= {l —e™

—?-it‘x}OamlO-:y-cl

0, ifx+y<0
Glx,y)= 4
(%) {Lifx-ryzti

Choose your answer from the following codes ;

(1) OnlyF (2) Only G

(3) BothF and G (4) Neither F nor G

ﬁﬁﬁfmﬁﬂmﬂﬂiﬁwmmtfﬁ
I~ qf® x>0 O
F(x,y)_[ ok 2 o

|=-¢™

—y ‘ﬂn-o G\chﬁl

0,3 x+y<0
G H y
f""l“hmm y%0

I IR Fefofe g2 2 9l

(1) ¥ F Q) F™ G

(3) F ¥l G gt (4) TR EzdQ -

(Turn Over)
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17P/221/17 (1)

21. The joint probability density function of (X, Y)is

x+y,if0Sx,ys]

f(x)= 0 , elsewhere

Then P(2X S1|X +Y <1) will be

(1) 11/48

(2) 173

(3) 11/16

(4) None of the above.

(X, Y) 1w sl e FE

x+y,q 0<x,yS]
f(xy)= 0 4 A4

@ P(2X s|X +Y <) W
(1) 11/48

(2) 1/3

(3) 11116

{4}m§$ﬁﬁﬁiqﬁl

(10)

(Continued)
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17P/221117 (1)

22. If X and Y are independent uniform random variable over (0, 1), the joint
probability density function of U=X+ Yand V'=X—Ywillbe :

1, fvsus2-vand O<v<l
(1) fluv)=q1,if ~vSus2+vand —-1<y<0
0, elsewhere

12,ifvsu<2-vand 0<v<l
2) f(uv)={12,if —=v€us2+vand -1<y<0
10, elsewhere

1,if ~usvsuand<u<l
(3) fluv)=11,ifu-2svs2+uandl<u<2

0, elsewhere

l!2.1f-u_§v$uand0<u<l
(4) f(u, v]- 12,ifu~ 2$v$2+umd1{ﬂ<'2
0, | elsewhm

e . = P

(11)
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17P/1221/17 (1)

IR XY (0, 1) W weT agfoes R &, U=X+ YA v=X— Ye aaw

mﬁmmﬁwﬂm:

1,3Rv<ug2-v 3R 0<v<]
(1) f{u,v}m.l,ﬂﬁ—vﬂuﬂw A -1<v<0
0, S

12, afR v<ug2-v 3R 0<v<l
(2) ffu,v)--lﬂ,ﬂﬁ-trﬂt:£2+v A -1<v<

| 0, =

1, aft —~u<v<u Ak O<u<l
(3) flwv)=q), M u-2<v<24+u AN 1<u<2
0, I3

172, o —u<vsy 3l 0<u<l
(4) fluv)=412, Wu~25v<2+u AR l<u<?
1 0, w43

(12)

(Continued)
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17P/221/17 (1)

23. The joint CDF of a pair of random variables X = (X, Y)is given by

(0 x<0,y<0

¥y 12x2012y20
Fer(xy)=4x 12x20,y>1

ly x>L12y20

1 x2Ly21

The probability that Max(X,¥)<0.6 is closest to :
(1) 0.36 2)0.5 (3)0.8 (4) 04

T Wl & gW X'= (X, ¥) %1 v vt w2 wow

0 -.tv-:ﬂ.y-czﬂ
xy lzxzQlzyz0

¥ . 12520,y>]
y x>1L12»20
1 x2Ly2l

¥R o & | ftam (X, ) <0.6 6w g & ;.
(1)036% (2)05% (3) 0.8% (4) 0.4%

24. A non-negative integer m variables takes value 4 with probability

pmporuona!toa‘(ﬁ-fadl)m mmwm
tion, then F(1) is equal to :
() a @1-a  Ga-a)  @)]-¢

H§ v o Wﬂ'ﬁmwchl)tMt
émtaﬁtﬂx}mmmﬁmwﬁﬁﬁ!wt W R1): e

LT e

(Na 2)1~gq (all-a) ~ @)1-g
st

s

Far ('EJ*J =

(13)
(Tien Over)
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25. Xand Y has the joint probability density function f(x, ) for x>0 and y>0. Then
P(1 <X+ Y<2)canbe given by :

W [ 776 ey
@ [ [ f(xy)dyas
® [0 fyydsdys [ 77 (xy) de v
@ ([ F(ny)de - | [ 7 (xy) ey

Xﬁﬁf Y ¥ TR B e £ (x, y); x > 0 3R y > 0 v &, at
P(1<X+Y<2)

m [ [ 1) dedy
@ [ [T f(xy)dvax '
o [["1 (1) de (L7 (y) sy

@ ([ 1 dd-[ [T 1) e

oy Pt 1 T R |

(14) (Continued)
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26.

27.

28,

17P/221117 (1)

Iff(x) isap.d.f. of 3 variable X defined as,
f(x)=ex, 15x52
=z, 2€%<3
=0 otherwise
then the value of ¢ is :
‘Il'ﬁstﬂmla.d.ﬁf(x)iﬁﬁﬂﬁ

F(x)=cx, 15252
=¢, 25x<3

=0 =g
T % 7A B

(1) 0.4 (2) 4.0 (3)0.2 (4)2.0
Shifting of origin does not affect which distribution :

(1) Binomial  (2) Gamma (3) Geomcu-icl (4) Beta

et 32 s ot s e o

(1) Ry (2) rem (3) i (4) xzr

£ x~y(m) andy~ y(m), the variable x/(x + y) is distributed as -

(1) #(n.m,) 2) £ (mm,)

() B (m.m,) (4) normal

TR x~7(n) M y~p(n), B ® ke + ) W,

(1) 7(mm) Q) By

G) B(mm) . —(QEm=
o~ (15)

(Tirn Oveyy

collegedunia:s
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17P/221/17 (1)

29. 1fx~N (0, 1) and y~ x2/n, the distribution of the variate x/\Jy follows:

30.

31.

(1) Normal distribution (2) Fisher's t-distribution
(3) Student's t-distribution (4) Gamma distribution
af x~ N, 1) 3R y~ y2n, R 2y &I G '

(1) &M FE (2) e t-¥eA

(3) Student's t-¥¢ (4) T e

1f x~ B,(¢,v) and y~ y(4,pt+v), then p.d.f ofxyis:
g x~ B (4,v) 3N y~y(i.,;.t+v),ﬁ’l:qﬂ p.d.f. ¥FT ¢

(1 7(4.4) (2) y(A.p+v)

(3) A (‘lr F) 4) A, (."-‘”

. - 0 IS Y . Jvariance
A variable x withm.g.f. M, {I)=[§-+3—e' ] is distributed with mean an

as.
.
(1) mm=€: W=9
| 2
(2) mﬂﬂ-'-? m=9
can=l. variancc=g-
@) m 3 3
2 B
(4) mean ==, vanance =g

(16) (Continued)
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& W x R mg.ft M (t)=[ +—¢'J T W W A R 8

2 2
(1} m"'sr m‘;
() MW =2, yEw=2
3’ 9

| 2

e =, ==
3) 5 =
@) mm=2  ggmal
3 2

32. Ifx~b(n, p), the dlsmlmtmafy- (n—x)is:
TR x ~ b(n, p) 'iﬁ_v= (n —x) % & BM ;

(Mbm 1) (2)b(n, x) (3) b(n, p) ) b(n, g)
33 B X~N{pg) and ¥ ~ N(s,07), the variable X + Yis distributed as :
n&x~u(;z,a2)sftxr H( ar;)hhnxu'ﬁn&nﬂw

\“\“‘

) Meg+m, & +a2) @ N(u, af)

DN al) "~ @ Npep, )

[ ]
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17P/221/17 (1)

34. Ifxis a binomial variate with parameters n = 25, and p =0.2. The probability
P(x<p ~20,)is:
2 v Povr = s v n=25 3k p=02% | wRwA P(x<p-20,)
Ui

(1) (0.2% (2) (3) (0.8)” (4) (0.5)*

5. 1f X ia o Doisson variate with P(X = 1) = P(X = 2), the mean of the Poisson

variate is : |
af? Y oot = ¥ ol POY = t)nax-z),ﬂtmﬁu%mmmﬂm.

(1)2 (2)4 3)6 43

36. Ifx, and x, be a random sample from a population N(1, 1), the variate —T
is distributed as : ‘
. = :
ﬂﬁxlmxjmﬁ}v(l, 1) ﬁwuqmﬂﬁdiﬁm ﬁﬁ— & T2 B

M) Npo) @ N (3) N(Lo) @) N (0,1)

( 18) (Continued)
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37. Let ¥ is sample mean of random samples of size # drawn from N(4,9). For
whatvalueofk.x>klsmﬁcalregwnofma.oos totesthypoﬂles:ls
Hy:p= i against H, : u= p, , whete y > u,

;ﬁf:: M?N(;m)%ﬁmﬁn h:ﬂqdmnﬂdmtlki:mtm
¥ >k, W& H, H:p=y, Y u>u, %R
s uosmmlﬂﬂmﬂ!{? vanh Gl

1.96 | 1.645
AT . aap
3.290
(3) #n"‘T-" 4) ;.5+T4'9js

38. The manager ofa ghop says that !he number of customm visiting on the week-
days followed  Biopmigl distribution. Which or ofﬁlefollowingtedmaqum
can be used to test the truthfulness of sTement oF MATEY '
mgmﬁcance?

(1) Test of significance of mean
(2) Chi square test as goodness of fit
(3) Chi square test proportion

mww B AHEE T )
o & lﬂﬂﬁﬂhaaa#}ﬁﬁﬁmm, T T o= T YN . 5

ﬁmﬁ:ﬂa Mm
(1) wres % R wmeferan whhagon

)y ot R AT,
(3) FRRT & -Rvy. o aomplig —~ TS
(4)ﬁM$mmW

(19)
(Turn Over)
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17P/221/17 (1)

39. If degree of freedom of Student's ¢ distribution is large then it will be which of

40,

41.

the following distributions 7

(1) Standard Normal Distribution  (2) Normal Distribution

(3) Chi square distributton (4) F distribution

WEEF A F @A TR AME A FATIRT @A G 7
(1) W& QAT e (2) vEmT HZA

(3) &1 @i & (4) FaeA

To test whether Normai distribution with unknown parameters ﬁts; good to an
observed (requeney distcibution with nine classcs, o frequency chi square test
is used, Expected frequency for cach class is found at least 7. What will be the
degree of ftecdom of the chi square test ?

R T AT e R ST S e WE 4 2 e e § )
iﬂma?tqmﬁmmmimﬂlﬂaﬁwmwmﬂ&m

o
(NH9 IR 3)6 4)7

et random variable X is distributed as U (0, 6) and x is a single sample from it.

MC, :x703and €, LO<x= 1.5 arc considered as two critical regions to test

the hypothesis A, : @ = 1 against 1, + @ = 2 then which of the following state-
ment is true ?

(1) Level of significance of C, is more than C,

(2) Probability of type two €rror of C, is more than C,
(3) C, has smaller power of test than C,

(4) Both have same perar nFoact

(20) (Continved)
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wH B TR WY, U (0, 6) ¥y i & x v s iy e & | 3R
e H,: 0= | S g B, :0=2% vh iy C,:x>05KC,: 1.0<x<1.5
wiites & R ot o A v S TR 7

(1) C, w7 v K C, ¥ it

(2) €, % R i s 5 3R 8 s 3w
(3) C, % ye # C, wn wwwrrae it &

(4) 2 % whgo @ wwr w9

Aquasﬁm‘mnhd, m'mh-dhﬁm«!fdn.hlﬁﬂ individuals
from a section of population. 19 out of 100 gave the answer of question as True,

What will be the value of Chi-square if the hypothesis to be tested is PCTRUE)
PFALSE)is14?

m&twﬂtlmﬁﬂﬁﬂm e & R 3er a1 @ True 71 False

e | 100%R 193 W 9730 True 1 | ALSE)
P :
lﬂiﬂwﬁmﬂﬁﬂidwwnmiﬂm i ,

a)l L l
T iy v S e
e
(21) '
Tirn Over)
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43. Letx, x,, ..., X, are random samples drawn from X ~ N{x,16) such that

ZH %, =60 and —;EZH, (x,~%)’ =5. Which of the following intervals will be
ia] " f o
a 95% confidence interval for ¢ 7

TRBFE X~ N(116) R x,, X,y oy X, TR0 SR & ard' Y 5 =60
2_'4 (% -%)' =5. f stguel § @ BH @ AW 4 & R 95% free
e B ]

(1) (~1.00, 4.00) (2) (1.69, 4.31) (3) (0.44, 436)  (4) (0.83, 397)

44. Paired rtest is applied to know the significant difference between two popuﬂgf‘
tion means when both the populations :

(1) Are independent

(2) Are related/matched

(3) Are independent with equal variance
(4) Ase independent with unequal variance

o et & wet % o A e 5 o 2 ¢ e 1 e R
Tﬂiﬁlﬂqﬁ:

(1) = B
(2) Wit/ Frem T B

S T e T |

[ ]
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45. Inwhich of the following F test is not applied ?
(1) Test of equality of means of several normal populations.
(2) Test of equality of variances of two normal populations.
(3) Test of equality of two impendent normal popuiations,
(4) Test equality of two population proportions,
miﬁﬂmimemﬁm ?
(1) 5 s sl v w8 7
(Zjﬁmm%m%miﬁmm l

46. In a large sample tast for tion mean
# for the hypoth
Hy:p=p,H :p=yu if the level of sipr mmkWﬁip;o::
under new nmptancemglun of hypomes;s wzl] bc

(1) Smaller (2)Lm
(3) Unchanged (4) Half of older
mﬁ‘ﬂﬂpt RS A, :
mw&mm}gw&m# maﬁwmﬁ o
(1) ¥ §romm O wwim
(3) st Qo R 1

R (4) T} 1 e g v

(23)
(Turn Over)
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47. A test T which is at least as powerful as any other test of the same size, is
called :

(1) best test

(2) most powerful test

(3) uniformly most powerful test
(4) None of the above.

7w vl S — L e R LR
wweran & .

(4) 390 # § = 7 |

48. A test T for which maximum risk under A, md'H! is n?t more than the
i risk of any other test I° under H, and H,, iscalled

(1) anunbiased test

(2) uniformly most powerful test
(3) an admissible test

(4) minimax test.

(24) (Continued)
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Hyw H, % si=wia 1% wew 7 el frg st e, B, am . & s
@wrtmmammmmmﬁ g

(1) v% Py glam

(2) e WA viiteTef vl

(3) &% g e
(4) y-Tgem qlew

The ratio of the likelihood functions under & and under the entire parameti
space is called : : | ’

(1) probability ratio

(2) sequential probability ratio
(3) liketihood ratio

(4) Noneof theabove, -

H,% i o geqol wreer o & whmmﬁﬂ%mg

(1) Wil srqaw

Qwe e

) v o | .

O T
m—
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50. Neyman-Pearson lemma provides :
(1) an unbjased test (2) a most powerful test
(3) an admissible test (4) minimax test
o1 R srvfirert oo HOA R
(1) v fRege yliem (2) T S Tifeween Sigw
(3) @ amgr ThE (4) wg - T
51. A test based on a test statistic is classified as :
(1) randomised test (2) non-randomised test
(3) sequential test (4) Bayes test |
7 v e @ ot G e g gt & 9 9
(1) TR T (2) H-AREE T
(3) FHH St | (4) ¥ glEm

52, In one-way classified data there are 7 classes with 5 observation each. The
. M

degrees of freedom associated with error sum of squares will be .

v wiga St a7 Soft a9yl 3roft Saﬁ%tﬁgﬁaﬁﬁ’mmmﬁﬁ
it
(1) 25 (2)33 (3)28 (4) 34

(26) (Continued)
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53. In the analysis of one-way classified data, the degrees of freedom of
:t;hit:; ;o:‘t:?;ng equality of #(72) treatment means mdototal ohuvzﬁ:
er it bl e 3, wlvgen sfreator s 1(72) Aeiiee sren 4w
vt e § e e ettt o e fd, ﬁm:(ﬂ)&mm » -
(1) (k—1), (1= 1) (2) (k- 1), (1K)

@)k (n=1) @k(-h

$4. Which method of estimation is used for estimat
L tho ng the parameters of the
Hnwmodel given far;o;lp-“myclassiﬁed data ? P

(1) Method of moments | (2) Maximum likelihood
(3) Minimum Chi square ‘_ (4) Leastsquare -

T & £ Ry Yt wRre & P —
ﬁﬁmwi ? - o

(W) s (@) st
' (S)WW AR RN b TR TR *(4)W i 2

e ¥ o vy Nk T o L

(JIABCD 2YABLCD
BCDA mDABE
CDAB CDAB
DACB BDCA

(3)ABCD I ()9 9: % vl
BCDA Bcnfh'
CABD ™" 77T o
DABC ' DABC

(27) adl

(Tirn Over)
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56. What are the degrees of freedom for the test statistic used for testing the
equality of treatment means in a randomized block design with 6 treatments and

24 plots ?
6Wm24wﬁkwmwmﬁmmﬁiﬁmﬁt
e iy Tham Mg O wwE fife w R 7

(1) {5, 13} (2) {3.5} (3) {5, 18} (4) {6, 15}
57. For a standard # x n latin square, how many different latin square can be

obtained with the same standard ?
@ n x o W AR o @ e ARtm AR-wt ym R a7

(1) ni(n -2)! (2) (n— D! {(n-2)!
(3) n'{n—1)! | (4) al(n+ 1)!

$8. Ina 2? factorial experiment interaction effect between two factors A and Bis
gi%'maamAmsam s o foed T S
7

(1) ~{(ab)+(@h)-(ah)-(a)
@) L{(a)-(ash) () (@b
O CARCOMCORCY

) L1(ab)-(ah)+ah)-(h)]
(28) (Continued)
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effect 4B is given by:

T 2 g i, raiqmmihmtlmim‘mmﬂm

mkmmmmaﬁmmm
(1)2,2(r~1) ) 1,3¢-1)
O 24-1) (4) L(r*l)
In2? fm:toﬁnl experumnt which of the followmg gwe.s the ma:n ;;’f;auf factm

C?
m:’wﬁqﬁmﬁﬁqié aa'hm CHTATTARE 7

(1) ;(01"%)(0; +4,)(c, +¢o)

@) -i(q +a)(h~8)(c -c,)

O) Hata)(h +8)(a-e)
) 3(a-a)(4+4)( <)

-.-‘.n-l-

Thedegreaof 0 ' :
fmﬁdﬁm fmrwmofsquamsmaz-‘fawwqamcm
ml’mﬁnﬂ} W;ﬁsﬂﬁm pf
? u‘ra}gﬁ: Iﬁnﬁma:m

NIr-1 @ &-1 ‘
(_J fr 1) @) &r-1 ~. ) 8r-p | f4)?r-_.l

:~_-"" “‘\_)
(29) — .

(Tirn Over)
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62. If the stratum sizes are in ratio 1:2‘:3t\:l.litht‘-s;trtftlv;xglr‘t:w.atah:?:3 s:tiiaor?s.minratm
£h fe drawn from the stratum will be in te At
ié;:mmf?ft %t st T e 2:3:4% I AR T

PR 1 Wit s FII ﬁ B
(1) 3:4:6 (2) 1:2:4 (3) 3:4:12 (4) 1:3:6

63. The ratio estimator for population mean is more efficient than the sm'ngh‘::i nc::lc;
. for p=0.8 then what will be the value of C/C,, Where 7, C:; andf e
corr:lntit;n coefficient between y and X, coefficient of variation 01 X
m [ I o af of rwly:
xwﬁ:ﬂ;ﬁmﬁmm g @ p=08 ﬂ"i_ﬁl’l{m;ﬁlﬂﬁl
¢/cwmmwam 158 £,C o €,y o5 e g T, % R

"mytﬁmgmﬁﬂﬁsﬁumt.
. v | o
¢ 1<—*~<1.5
0« =<l (2) C,
™ C,
,C
08s-%41
(3)%5-51.6 (4) e
y

a p

Rwillbe:
V(y undﬁ'SRSWRandSRSWO ) "
ﬂéyggmi;m&%lsmmuﬁmiwwﬁ vV(¥) a:aqgma:::;)ﬂ
_ o ooy faft) #ft SRSWOR (¥ frenfia
(e WO e

NOERUE _
1)|15I | (2) 1.7 3 (3) 14 (4)23
(1)L

(30) a o (Continned)
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The problem which is not related to stratified random sampling is :
(1) Sempling frame-of the population

(2) Size of strata

(3) Fixing criteria of stratification

(4) No. of strata

e S s S g st & st 0§ 2

(1) wmfd = st gt

(2) W =1 SR |

(3) Tt % Ree e R e

(4) &t ot G

Under the optimtm allocatiok firstrusified random samphing, the sample size to
be drawn from the fth stratum will follow the rule. Whereu,,N,,S?andC
denote the sample size, stitifh slm;mm:;m-mnimmmitof
ith stratum,
wﬂwwm‘wiw-ﬁitmﬁhmﬂﬂmﬁmmm
Pram wpee wm \ 5§t n, N, Sl C, 5 ith W & o e, e amm,
s anf afte sy b ek Bin wad

DL ST % ML

OV neNSG s <SG
./

@y

(Zurn Over)
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67. For the fixed sample size n, the optimum allocation is given by :
n 3t % Fifve wiied % for g deamn & s &
Where n, W, C,and S? denote the sampie size, population proportion, cost per
unit and population mean square for ith stratum and » and L denote the total
sample size and no. of strata.
T8 n, W, C 3l 52, ith v & st s, e g, S v o s i
R T R T & o 5 af L el et s szt ) e el
o # |

I L
(1) m=n¥,.CI3RC, (2) n=nWSCILHS,
) = B (0 n =370
| L .
> 5, 1\C, Y wsC
= Jud

68. Ifall the strata means are equal then the unbiased estimate of V() SRSWOR

illbe:
%H‘Ewﬁﬁimmﬁm ¥ (¥) SRSWOR 1 37t e € :

Where », N and #, denote the sample size, population size and population
proportion of ith stratum and 5% and s, denote the sample mean square for

fisi d sample of size n, drawn from ith stratum.
:?ﬁf?ﬁz;;%%,{;@mmm&mﬁm)aﬁﬁmﬂm
% v 52 e 5 SR e o (SRR ) S SR ARG i, (ith T R e

2) # Pefm st
3w

=)

(1) V{7) SRSWOR G---;?)
1
n

(2) 7 (7) SRSWOR =(__ ﬂ,z

L

1
(3) 7(7) SRSWOR =(-};-—-§];w,s.

L
(4) V(7) SRSWOR = Y W

I=l

(32) (Continued)
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69. fin a population of size 100, theratio of ¥ (¥) SRSWOR and ¥(7) SRSWR is
8/9, then the sample size will be :
IR 100 % SR & gufy ¥ V(¥) SRSWOR st ¥ (7) SRSWR
B W wfved smer B 4 m -

(1) 10 (2) 15 (3) 12 (4) 27

(1) Sﬂmple SI.ZBShou]d bcknown R VORI CRRSE RS ik e
(2) Stratum size should bo known,
(3) Sﬂnpuhsﬁmemdpwmﬁnmrmmswwmm

(4) Population mean square for each stratum should be known.

e
msrﬁqﬂmm!\m‘lﬁ! | D
sk ol L. (O

O Ry S e s g e

‘.-'--"""-m L
(31)

»
collegedu nia
o - India’s largest Student Review Platform

—



17P/221/17 (1)

71. The ratio estimator for ¥ will be unbiased (up to terms of order n™' )if:

7 &1 St amwers st g (n” witg o3f o) AR

' 1 fficient
Where 7, p, C,and C donote.p?pulanun mean chrelat;on coe -y
between y and x, coefficient of variation of x and cnefﬁcte_nt ofy respecw
el 7, p,Cxaﬂ'( Cym:ﬂ'ﬂﬁﬂm‘l,yaﬁ‘{ « % drg ¥ FEEEy TIE, x H

o 3y 3 Faer 1o o e e R |
c

¢ vl
Shuiis 7 £=
(1) pC, _ (2) ,

() P (4) 0t <CC,
72. Ifsexratio of birthis con'srant at 1,05 then the Gross Rep?;iicflon Rate (GRR)
- be caleulated usirig Total Fettility Rate (TFR) by the formula
:Elm;tm:fénm 1.0% 70 fr X A gwe T3 g (GRR) #1 & 5o
_mm}mmﬁﬂmﬁg@ﬁmqgmmﬁﬂﬁm?mtl

(1) GRR=1.00 TFR/L.0S (2) GRR = 1.00/1.05 TFR

(3) GRR = 1.00 TFR/2.05 (4) GRR = 1.00/2:05 TFR

 In life table, which one is not correct 7
" mﬁﬂmmﬁmmaﬁﬂﬁt ?
2n(,m,)

om, - _
L ) ™= 25n(,m,)

- @) T,=L, 4],

2

e

(34) (Continued)
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Whichsoumcofdmiuuaedforﬂnmdyofmﬂm?
() Popalation Census

(if) Registration of vital events
'(if) Sample Surveys

Codes :

(1) (0, i, at),

(2) Only ()

(3) Only () anc (i
4) Only (ﬂ);nd ...

,mtmtmmmtmmmhmn

() wEwaT S

0 W end v wiwm

(#if) oEn wdem

(@, G, @y

(2) ¥ () e i

Oy . . .

() et
e & 13 \\
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75. A relationship between curate expectation of life (e,) and expectation of life
at birth (¢) is : -
F St yearn (e,) R w1 W e e CHER LR E
4
(1)e,=e+ = @) e =e'—%

(3) e =et~] 4)e, =el+]

76. Which of the following population growth model is not matched correctly ?
freafora e Wty wiee 3 3 B giferm 7§ 7

(1) Arithmetic: £ =B (1+rt)
(2) Exponential: I} = Re"
o K
(3) Loglsnc e S 1+Enil
(4) Compertz: B, = BC'
77. Which chart is used for keeping a control on the 'central tendency’ ?
(1) X-bar chart (2) R-chart
(3) P-chart - (4) C-chart

wm'qtﬁmt@a;mmwwwan%?

(1) XAw R (2) R
» ot
(3) P e
(36) (Continued)
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78. Which of the following is fraction defective chart ?

(1) X-bar chart - (2) P-chart
(3) R-chart (4) C-chart
Faddoa am el ad & 7
(1) XaR wid (2) P-wé
(3) Rw® . (4) C-ui

79. Which control chart pattern is used for assignable causes ?
(1) Trend pattern - (2) Shift pattern
(3) Extreme variation pattemn (4) Allof the above.
7 am Frer wié 8 Rruffer wek e oot % Ry Sk P o Y 7
(Dl {z)%mm
(3)uﬁm&a=i | (4)mm.

80. Ttwmhot‘ptopnﬂmnt'defectwes mthe lot against average ump!&uumber

t
oY s

¢

(1) OC curve (2) ASNcurve

(3) Puw& alave: | i4) All ofl.hc‘above.
St s o & st faseht wife o vy ¢ e o v
(1) oCw " (2) ASNws

) awufy - © (4Rl

v \.\ . (m" Ol!er}
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81. The maximum limit of percentage defectives in a finally accepted product is
called :

(1) Acceptance Quality Limit (AQL)
(2) Avcrﬁge Qutgoing Quality Limit (AOQL)
(3) Lot Tolerance Percentage Defective (LTPD)
(4) All of the above.
mw@mﬁmﬁﬂmmﬁmma :
(1) Tt e i (AQL)
(2) a‘-ﬂm Fraeeirgn Tev @ (AOQL)
(3) iz wfitsapar witma 2 (LTPD)
(4) 370H Tt |
82. The moving average in a time series are free from the influences of :
(1) Seasonal and Cyclic variations
(2) Trend and Kandom vasiations
(3) Trend and Cyclic variations
(4) Seasonal and Trregular variations
7 A 3 e e P & e T R
(1) e & o SR
(2) VR T SR
(3) et & e SR

; il o
s - o

[ ]
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83. The general decline in sales of black and white TV is attached to the component
of the time series : ;

(1) Trend | " (2)Sea.90nalvnriaﬁon
(3) Cyelic variation (4) Trregular movement |
e & wm A, % Rl 3§ w0 vem S R w1 okt w1 R wrw
(OF, S (2) wgfe s

NOL L (4) wiPafive whads

4. Mﬂdoﬂﬂstsqu@}émthmdyifmmm
(1) linear —— (2)parabo1_i¢ Ce
(3) both (1) and (2) (4) neither (1§ a6 2y =-
ST v 0 wof ety s ) e R, AR TR .
(1) W & NOL L
(3) (1) 3R (2) 3 Cw I

85. Let X follows Poisson dssmbuuon t.hen (X-57), where Xis sample mean of
a random sample of size n and ;’ = ig(ﬁ’f" f)r‘ » is unbiased estimator of «
7w s 3} X olam fﬁﬁﬁﬁr'a"ﬁmw‘ﬁﬁ'(ﬁ's")' oo X % waew
IR W TEees S s e 8"'=1i[m-f)’- % fegy

a@mw: ' i
(1)0 @ -2 UTITT— f',f-'-,z

Sl (Turn Over)
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86. Consider the following statements : *
(/) If Tis an unbiased estimator of 0, thea 7° is an qnbiased anmator n{ e
(if) If T is consistent estimator of 6, then T is consistent estimator of 6

Which one is correct ?

(1) (9 only (2) (if) onty

(3) Both (/) and (#) {4) Neither (i) nor (i_t)
frferfian wamt W foam &

GyaR T 0w Fow s §, @ 7 60 % uw e 2
(i) AR T 0 % fRx swme  7° 0F Tl o= € |

sharEaid ?
(1) Fa4 (i) (2) %a (i)
(3 (/) # (i) A (4) 7 (/) T8 (@)

87. Which of the following statcmcnt.islm qc[n'ect ? -
(i) Samplemean is slways consistent estimator of population mean.
i) Consistent estimators are not unique. - . P
5:2) If T is consistent estimator of € then ¢ is consistent estimator for ¢ .

(1) (/) and (i) only (2) (ii) and (i) only
(3) (i) and Gii) only (@ (). GDand (i)
gq%mn;%mm%;wmﬁ A |
}iﬂ,ﬁﬁfgﬁﬁnm T, et S fory fom A B |
(1) ¥ (i) R (i) (2) @ (i) 3 (i)
(3) ¥ (7) 3 (i) (4) (), (if) 3 (i)

(40) (Continued)
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0 T-gxf-inm;mf&e

(1) =32 is suficient for 0
(1) () only (2) (if) only
(3) Both () and (i) (4) Neithee () nor (i7)
wRx,x, ey X, B AT T ﬂl,ﬁ)ﬁt,ﬁﬁqﬁﬁmmﬂﬁt?
() T= gxf 0% firg of ¢ |
@) T=3x1 0% g vefn &
OO G wma
(3J(0¢(fﬂ.ﬁ.-, S O R XK 6
89. Whmstheﬂlﬂicmntmnmrofe furthedésnibuﬁon o
oyl 8 0 |
bk iy et
(1) xﬂ ) . (2) x[']
(3) xm MTW
(41)
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6 % TR s & 7% et o
f{x|9)=%; —%cn:-g-
(1) %y (2) X

| i
(3);:{,]3’\::: T €9 | AN #) 3

)

: . ; d
99, Letx,,x,andx, arerandom sample of size 3 from a po?ulatlon with mean  an
' variall;c; o, T?, T, T,and T,ate four estimators to estimate pwhere

4+2x, +3x

ntxntx T:=x' 3 T %
h=="=3 6

¥ i_x,——2.x2+xl

Whiﬁh one is the best estimator ?

]

v e 1% T & R 3 % WG0H L

w e o R S A T, 4R A & T8
I.*Izm xJ%, pﬁs A o & fae TI’ T:'-' Ta 4y N

] +2x, + 3%,
ﬂ=i+x‘;+x}- T:"-"x’ 61
T _xlrzx2+x3
T.=X%+%5 % ' 3
@ R F angmt ?
T
(D7, @n - (3) T, (4) T,
|
42) (Continued)
(
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91, Ifrandoni variable x follows uniform distribution with parameter 0 then

() T=x,issufficient for 6 (i) T=x,,is complete for 8 |

(if) T=x, isunbiased for@  (iv) T=x,, is MVUE for8
Which one is correct ?

(1) (and (i)only (2) (i) and (jif) only

(3) (i#f) and (#) only (4) 4i)-and (i) cnly

u&mﬁm'x,mekmmmmmﬁtﬁr;;

. A g, ‘...

() T=x, 6% R wimt (u) T=r , 0% Rrg gl 4
(i) r=x{hatﬁm§;:&m ® r-: B%WMVUEt
vt .

(1) ¥ (1) e (i) | mm@}é (iu)

(3) ¥ (i) 3t (1) (4) % (i st (i)

TR g (Zrn Over)
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9. IfI(B) is amount of information on 0 supplied by the sample then which of the
following expressions is/are correct 7

0 f(ﬂ}=E[E%IDSL(x;G)]I'

(i) 1(9)-—3[%‘-1031,(:;3)}

. 2
(iii) J{a)ﬂlﬁ[.%logﬁ(x;a}]

(iv) I(ﬂ)=-nE[%bgF(x;B}]

Where the symbols used have their usual meaning.

(1) (7 only
(2) (i), (iif) and (iv) only

(3) (9, () end (i) only

(4) (0, (1) and () only

(44) (Continued)
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. ;t;z(e)mim #6068, tﬁﬁmﬂwm_mm
O 10)= 5] Jopi(x0)]
(#) I(8)= -E[%;-hg L(x; e}]
() 10} S ()]

@)= Zvertea)]

Wl veturer fivg 1y et W RS o g |
(1) %@ ()
(@) ¥ (i), Giir) otk (av)
@) = (1), 16) sk G
(4) %= (4), (i) 3t (3v) '
(45)

| . (Th-nom)
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93. C-Rinequality with regard to the variance of an estimator provides :
(1) Upper bound on the variance
(2) Lower bound on the variance
(3) Asymptotic variance of an estimator
(4) Lower and upper bound both on the variance
o ST & e % dEY W C-R e Sg o & :
(1) o w Sl Fim
(2) forreor W e
(3) T A 5 HRELAF CE
(4) Farmrm o 3 0 A @

94, Maximum likelihood estimator of parameter o of a population having the
density function

_f(xiﬂ']mré(a -x) D<x<a

for a unit sample size s :
o T 3 it o A T A 1 B
*f(x'.a)z&?'-f(a—x} 0<x<a
x I
(1) x (2) 2% G)3 @) o;

(46) (Continued)
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98,

17P/221/17 (1)

I.ft A and V respectively denote the forward difference operator and backward
?ﬁﬁm m Then operator (1+4)(1- V) is equivalent to :

§ ST AR TR 9 GETH SRR s R @ Yo
(1+2)(1-v) = F ¥ frs wmgen & 7 3

(1 )0 . (3)2  @a
If interval of differencing is 1, the value of A(x+5 where A is a forward
diffgrence operator, is : ( )’ o R
;ﬁmmmlﬁﬁ A(¥ +5) %1 7, Fafh A s s e},
(1) 2x+5 (2) 2x G2+l - (#)x+]
In calculus of finite differences, the relation b i
I e - *__jrf«:i;_:m etween the backward difference

mmmim%mvwm TR v Ty

. s
1) o= (2) v=£-1

_1-8 - -
() V0o 4) V=1-E

The relation between shifting obmtor E of finite di erence cal,

_ : ‘ iffe calculus ang
differential operator D ' L5 ‘ Shoom
e TP of differential calculus, when 4 is the interval of
mwwhmmemmwﬁa#mm
W e e Rl e s ] & B "

(&=4D Q) E~ioghd) -
() =2 (4) E=eo—.
- r—— =
) |

(Zirn Overy
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99, If A and £ are forward difference operator and shifting operator, respectively,

100.

1 i
then the value of -‘}x*,when nterval of differencing is 1, will be :

A i
R A a9 F 35091: ST SRR SR qu SR e A =X W

1AM a4 et w e (R

()3 @) 3 (3) 6x (4) 3

The following are ihrec staternents about divided difference in finite difference
calculus : - !

(a) Divided differences are symmetric functions of their arguments.

(b) nth divided difference of & polynomial of degree » are constant.

(¢) Divided difference cannot be obtained when observations are at equal inter-
vals.

Which of the above statement is true ?
it s e & R mﬂtﬁiﬂ_mmﬁhﬂ:

mwmmmammm;

(2) n 9T 6 TER riat P v v g € |
(3)uﬁmmmmﬂaﬁmmﬂﬁmqﬁﬁmmm
sAm AR eE R ? '

()a&d - @) b&e

4) only b
(3)ade (4) only

(48) (Continued)
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101, Which of the following formula is one of methods for inverse interpolation ?

(I) Newton's forward formula - {2) Stirling formula

(3) Lagranges formula 4 Bessels formula
ﬁﬂﬁl&uﬁ%mwwmﬁn%ﬂﬁwﬁht
U)%“M@_ (2) Rt g
OLot @¥wemgy e

102. Under the noti Hhrencss oF peic b s _ '
coonly onofdlffmwofmoh:fhﬂmﬁimw-m_of

T4 & Sl Y sreom ¥ sy A0S R BT
(1) 6 )7 - 32 o ‘(4).-3. I
103. The appropriate interpolation formule to obtain |
the value
puudlngtnanargmnﬂﬁwh&heatthcnuddlcﬂfglmwlﬂf;f&Mtlm:?

g T T

(1) Lagrange's formula (2) Stirling’s fmmula

W
(3) vatnn's fonv_ard formula (4) Newton's backward f;n;nu!a

TR el s v e e YW
k- ﬁm%WMﬁmu&tﬁimm

(Dewmwgg 2

—
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104.If the interval of differencing is unity, the function, whose first difference is

&, isgiven by :
qﬁqﬁtﬁammmaﬁﬂw,mmme‘,ﬁﬁm:

x4l

' e.l' E—
(1) ¢ @) &' (3) ) -

105. What will be the order of given difference equation 1
(G (@) =207 () (D) +4(7 +3)) = P(x)

Srefiriga SRR S BT B | |
(A () -2 D) e+ D) +4(f (x+3)) =PLx)

()7 (2)4 (3)3 4)5

106. Which of the following is the solution of the difference equation
Y2 -'Sy:-ll-l +6J": - 36

ﬂn&mﬁﬂmaﬂmﬁtﬂﬁﬂﬂwi\m
yu-: I‘Syn-l +6}’, =36

(1) CIZ‘+Cz3’+ 18 (2) Cx+CF+ 36

(3) CISJ & Ciﬁi + 36 4) C‘S’ +Co+ 18

(50) (Continued)
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107. For the numerical solution of ordi : . .
method is equivalentto: ovdinary differential equations, modified Eufer's

(1) First order Runge-Kutta method
(2) Second order Runge-Kutta method
(3) Pourthorder Rungo-Kuta method
(4) Picards method

g 7 m““‘ﬁmmhmmmﬁqﬁmm

(1) o 5 -y ey
(2) R 390 -3 Ry
DR Tt ——
(4) Rt Ry

lns.lfamndom'vanablc){has b _
| Of“mabler'-zx Lo mmSandsmndarddmahGnS,ﬂmtbeVuimu

- hakakie Ll 5 R PR — 5%, dumw F=2X~5w o

(1) 45 (2) 100 OB @

= e =
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110, If Var (X + ¥) = Var (X - 1), then the correlation coefficient between X and ¥
is equal to 3 - .,
aR Var (X + 1) = Var (X— 1), @ X 3R & ¥i Feaay I & et

(M1 ) 172 3) -1 (4) 0

111. How many basic solutions will be obtained for the following system of
equations 7
X +2x, 4% =4

2x +X, 4+ 5%, =3
3 R witeson ool & e e TR B 7
xl+2x1+xl==4
2%, +%,+5%, =3
(1)1 (2)2 3)3 (4)4

112. A LPP has an unbounded solution if there is some non-basis vector &, for

hich? |
;mﬁmmmm unbounded ¥ ¥ s non-basis AT @, F

o .
(1) (¢~ J,)-:Oand(w) y, 20V
(2) {cf-—z,}:rﬂ and (F91) y, SOV

3) (c}-z,)‘ig and (a91) y, <O Vi

20V
@ (¢,-2)>0 and () 3, o _—
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113, Ifthe primal has unbound solution then dual problem has :

(1) Asolution1

(2) No solution

(3) Bounded lollltiun

(4) Nonhaﬂonmal;unbomdodsoluﬁun

SR i S B 6 unbounded gt & 4 Sy w1 v oy -

(1) & w
) ¥ v oy
(3) Bounded ¥
(4) % % 3 o Unbounded ¥
114 fm I::c :&iﬁ possible fur a s;stcm ofszm equation containing
T & 1wl m s 93w, mmﬁmM»
()"C, (2)"C, 3) *C, (4)"P
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116. The total number of permutatmns of assigning 2 persons tonjobsis:
n et B p e fuifa w9 1wt e wea

(" (2) %, 3) (n—-1)! (4) (n + 1)!

. ; . —
{17. Under which condition assignment problem is a particular casc 0f transp
tion problem ?

ﬁmqﬂ@lﬁﬁﬁﬁeﬂmmmmmmﬁhmﬂﬂ?
(l)m-nand(m)q=1=§, v i&j
(2) m<n and (F) o, =1=b, V i&J
3) m=n and (W) g, =1=b, V i&J
(4) m<n and (ams a=1=b Vi&j

_ ¢ —z the outgoing vector
118.Ina Simplex table with usual notations where 4, =¢, =%,

A, =¢,~3
..x_E.-=mnx{£- s Vur >D}
(1) -fﬂ-=m}n{-:7" ' Vi 7"0} (2) y o (A
Y ik

. b3 m{f—m— s V. <0}

(3) -';.-:miﬂ{:—;i' s Y {0} (4:) o P K
[ FPE
(54) (Continued)
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119. Using Graphical method solve
Max £ = 30,0005, +10,000x,
S.toec.
n+x,26
2%, +x, <8
ad % 20,x20
m:uhm‘mwmhemamam:
OY . 5. (2) (0, 6)
(3) (2, 9 (4) No solution

wew gt
- Maxz=30,0005 +10,0005,
S.toc

NP +X, 26
et/ ﬂ'#—;}"_ﬂrﬂ N I N L e

T2ntx <8
md 520520

Vo o o Rrs g oy T —

= TN LMy ¢

mesy R g s
()2 4) F'“'"“me.ﬂ)w ﬁ i
i . e T e . ' l
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120. Which measure shows that the population will reach at the replacement level

fertility ?

(1) NRR> 1 (2)NRR < 1
(3)NRR—1=0 (4) None of these.
mﬁmwm#ﬁtﬁa@wﬂﬁmwﬁq&qﬁaﬁﬂi ?
(1) NRR> ) (2) NRR <1
(3) NRR-1=0 (4) vt & o 7 |
{56) B-1,100
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